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+ Which one of the following is the correct set pf

seven basic movements body can perform, and

all other exercises are merely variations of these

seven?

(1) Pull, Push, Squat, Lunge, Throw, Rotation,
Gait

(2) Pull, Push, Catch, Lunge, Hinge, Rotation,
Gait

(3) Pull, Push, Squat, Lunge, Hinge, Rotation,
Gait

(4) Pull, Push, Squat, Climb, Hinge, Rotation,
Gait

(5) Question not attempted

- Isometric contraction is when muscle -

(1) shortens.

(2) stays the same length.
(3) moves.

(4) lengthens.

(5) Question not attempted
 Which fact of doing an activity for itself, the
pleasure and satisfaction derived from
participation is called?

(1) Derive theory

(2) Intrinsic motivation

(3) Extrinsic motivation

(4) Need theory

(5) Question not attempted

- “The hypothesized reduction of aggression that
follows the vicarious expression of it” is known
as -

(1) Cathartic effect

(2) Behavioural approach
(3) Attention approach

(4) Goals setting approach
(5) Question not attempted

- An increase in the number of cells in tissue or

organ refers to - :
(2) Hypertrophy
(4) Hyperplasia

(1) Hyperthermia
(3) Hyperglycemia
(5) Question not attempted
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6.

10.

When the data s collected
questionnaire, what will be the first step of data
preparation process?

(1) To apply the required mathematical formula

(2) To check the questionnaire, if they are
acceptable or not

(3) To convert data into statistical format

(4) To convert the data in a tabular format

(8) Question not attempted

“Moment to moment changes in worries and
neéative thoughts™ is known as -

(1) Somatic anxiety

(2) Arousal

(3) Trait anxiety

(4) Cognitive State anxiety

(8) Question not at.empted

Which skill refers to the ability of a Manager to
take a broad and farsighted view of the
organization and its future?

(1) Broad skill (2) Technical skill

(3) Conceptual skill ~ (4) Human skill

(3) Question not attempted

In which Budgeting Approach each year is taken

as new year and previous year is not taken as
base? -

(1) Zero-based budgeting

(2) Conventional approach

(3) Cost analysis

(4) Line-item budget

(3) Question not attempted

What 1s the full form of HTTP?

(1) Hypertext Transfer Programme
(2) Hypertext Transfer Protocol

(3) Hypertext Transmission Protocol
(4) Hyper Transfer Text Protocol

®) Question not attempted
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12.

13.

14.

15.

16.

24

What does the Astrand protocol, Bruce protocol, 11

Harbor protocol and Balke protocol of Treadmill
protocols commonly used to measure?

(1) VO2 max (2) Strength

(3) Flexibility (4) Endurance

(5) Question not attempted

A force whose line of action does not pass
through the centre of gravity of a body on which
it acts, is called -

(2) Couple

(4) Torque

(1) Moment of force
(3) Eccentric force
(5) Question not attempted

Which of the following muscle of elbow joint
does not produce elbow flexion movement?

(1) Biceps (2) Deltoid

(3) Brachialis (4) Brachioradialis

(3) Question not attempted

Body density expresses -

(1) Bone weight

(2) Ratio of body mass to stature squared

(3) Body mass per unit body volume

(4) Visceral fat in the abdominal activity

(5) Question not attempted

“Research is life! It is curiosity” was said by -

(1) Ciccarelli (2) Rothstein
(3) Whisker (4) Grix H.

(5) Question not attempted

Which one of the following statement is not

correct, when moving ball strikes a vertical

surface or moving implement, the following

would be expected result?

(1) Topspin causes lower rebound.

(2) Right (clockwise) spin causes a rebound to
the left.

(3) Left (anti-clockwise) spin causes a rebound
to the right.

(4) Backspin causes lower rebound.

(5) Question not attempted

12.

13.

14.

16.
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17.

18.

19.

20.

21.

247

From the following, which one is not the role of |

corporate sponsorship in promotion strategies?

(1) Publicity and Corporate Sponsorship

(2) Advertising and Corporate Sponsorship

(3) Sales Promotion and Corporate Sponsorship

(4) Impersonal  Selling and  Corporate
Sponsorship

(5) Question not attempted

Which one of the following is not the scope of

supervision?

(1) To develop curriculum

(2) To achieve institutional goals

(3) To co-ordinate departmental work

(4) To teach supervision skills

(5) Question not attempted

As per the guideline of Bevin (1995), which

sequence needs to be followed when formulating

press release to promote program?

(A) Sending a note of thanks

(B) Contacting key media persons

(C) Identifying primary stakeholders

(D) Completing the news release

(E) Identifying target population

(F) Using writing style & format for the media

(G) Sending the news release in plenty of time

(1) D), (F), (C), (G), (B), (A), (B)
() (F), (B), (B), (A), (D), (C), (G)
(3) (D), (F), (E), (C), (B), (G), (A)
@ (A), (G), (B), (B), (O©), (D), (F)
(5) Question not attempted

A person who walks North for 3 km to point B
and then East for 4 km to point C, has walked a
distance of 7 km. Calculate the displacement of

the person -
(1) 6km (2) 7 km
(3) S5km (4) 9 km

(5) Question not attempted

Which is the method of controlling a threat to
internal validity in which a control group
receives a false treatment while the experimental
group receives the real treatment?

(1) Placebo (2) Hawthorne effect
(3) Blind Setup (4) Double-Blind Setup
(5) Question not attempted

GET IT ON
Google Play &

17. fefoRag & ¥ o9 o= wEifar

18.

19.

]
CH -

20.

21.

BIANE YRS B JAHT T8 57

(1) JaR 3R HURE TR

(2) fasoe SR ®UNe g

(3) fawp! HaelH iR HARe yrASH

(4) srqafdde fama iR ®MARe YN
(5) SriRd ueA

frrefoRad § | BT widerT &1 &5 T8l 87
(1) UIgTHH BT fdbr HeAl

(2) FRINTT oedi DI YT HRAT

3) fourfra &l ¥ 9 nfid &=

(4) wideror Hivrer Rarr

(5) IrgaiRa we

afaq (1995) & o ER, &l Wi BRimA @
FeEr <4 @ forv U9 fasify R #Ra 99y
f& ®9 &1 T &A1 ATfee?

(A) I=IaTE g WOl

(B) W@ WIfSATHRAl & Hud FHRAT

(C) wIffe RauRSI & Uga &2l
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22. The use of phenomenological interview is for -

(1) Theory Building (2) Policy Building
(3) Historical Research (4) Market Research
(5) Question not attempted

23. In research, what is meant by prognosis?
(1) Investigation of economic structure through
compilation of facts
(2) Critique on similar research
(3) Prediction of future developments
. (4) Analysing previous studies

23.

(1) fagia fwior (2) “fifer femfor

(3) eI SrgwuT™ (4) IR e

(5) SrgRa uw

Y o, qargA &1 @ 3ref 27 |

(1) 91 & dHed & 7regdq 3 e Ge=
P ST

(2) 99 ¥ Y ATATTAT BRAT

(3) "I & faerg w 9iosgamh

(4) fUoor syl &1 fAgemor

(5) Question not attempted (5) argeRa s
24. Select the correct formula for computing athletic ~ 24. Raef¥dT & fory veoraifes ufdreror Gfiemsit 31
training facility for athletes - O & fore HEl G a1 997 B —
(1) 10 athletes per station per day b (1) yfereer wfafe 10 Rearst % 100
Number of athletes at peak hour ZEIqq 99g ¥ Raenfsal @ der
= Total square footage = Gl 7 FTAY
(2) Number of athletes at peak hour T (2) TadH 9§ Raenfear @)\
10 athletes per station per day gt ufafes 10 Raarst x 100
= Total square footage = & g BEAq
(3) 20 athletes per station per hour {5k 3) ReRe Y Tver 20 Reesr
Number of athletes at peak hour 5 e x 100
= Total square footage ¥ W gt _gq %@T
(4) Number of athlete at peak hour 100 ) : 3 7 _Eg_vr : Be
20 athletes per station per day W | Rt e x 100
= Total square footage gfereers ufafed 20 Raerst
(5) Question not attempted : = 3 I FeAm
(5) SrgaRa U=
25. “The observer enters a room with a pencil, paper ~ 25- "t T URYA, BT R TS & AT Th

and watch and perhaps finds someone just going
to bed”, this procedure is called -

HHY H JY HRAT 2 SR s fhell B favr
TR WG §Y Ul 87, 39 WA B FET S

(1) Overt observation ¥ -
=

(2) Nature observation sl (1) y<ger IJgelid
(3) Behaviour observation 123 3515 SERIC
(4) Color ob ti =

olor observatio :

2 (4) T 3raclidp
(5) Question not attempted (5) sl we
26. What is the data transfer speed in LAN? 26. LAN # g7 TABY DI T F=T 87

(1) 1000 Mbps to 1 Gbps
(2) 1000 kbps to 1 Mbps
(3) 10 Mbps to 1000 Mbps
(4) 1 Mbps to 10 Mbps

(5) Question not attempted

(1) 1000 Mbps & 1 Gbps
(2) 1000 kbps & 1 Mbps
(3) 10 Mbps ¥ 1000 Mbps
(4) 1 Mbps ¥ 10 Mbps

(5) rgalRa ueA
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27. A transient decrease in red blood cells and
haemoglobin level (grams per decilitre of Blood)
is known as -

(1) Polycythemia (2) Sports Anemia
(3) Hemorrhage (4) Jaundice
(5) Question not attempted

28. Monosaccharides,  oligosaccharides  and
polysaccharides are classification of -
(1) Water (2) Mineral
(3) Protein (4) Carbohydrate

(5) Question not attempted

29. The cells responsible for bone formation are -

(1) Osteocytes (2) Osteoblasts
(3) Osteogenesis (4) Osteoclasts
(5) Question not attempted

ETS standsfor........oal iy an
(1) Electron transport signal

30.

(2) Electron transport structure
(3) Electron transport source
(4) Electron transport system
(5) Question not attempted

31. Match List-I with List-II and select the correct

answer when describing the relative position of
the body parts by using the code given below the
lists -
List-T
(A) Anterior
(B) Superior
(C) Inferior
(D) Proximal
List-1T
(I) Closer to the origin of a point of reference
(I) Towards the lower part of the structure
(IIT) Towards the upper part of the structure
(IV)Towards or on the front of the body
Code -
(1) (A)-(D), (B)-(ID), (C)-(IID), (D)-(IV)
@) (A)-(D), (B)-(1ID), (C)-(ID), (D)-(IV)
() (A)-AV), (B)-(1), (C)-(I1D), (D)-(D)
@) (A)-(IV), (B)-(11D), (C)-(ID), (D)-(D)
(5) Question not attempted
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(1) sifearased (2 siRediarey
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(5) SR W
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(1) soiae= uRass dad
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(5) 3R U
3. -1 & g1 ¥ fAad eiRk gfear
QT TG He FT ST WS WR D
el Refy &1 avF oxa 99 98 SaR
¥ -
I
(A) gdbTel
(B) gUR=R
(C) AR
(D) HHgwer
-1
() wev fdg @1 S@fT & w9
(I) =91 & fael ¥ &1 3R
(D) EREAT B SR 9FT B AR
5 (IV)IRR &I 3R IqT GFT BT AR
?r_ e —
(1) (A)-(D), (B)- (ID), (C)-(IID), (D)-(IV)
(2 (A)-(D), (B)-(I1I), (C)-(ID), (D)-(IV)
(3) (A)-(IV), (B)-(ID), (C)-(I1D), (D)-(I)
(4) (A)-(IV), (B)-(1II), (C)-(ID), (D)-(I)

(5) 3rgailRe wed
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32.

33.

34

35.

36.

37.

247

The absence of menses is known as -
(1) Metrorrhagia
(3) Amenorrhea

(2) Menorrhagia
(4) Dysmenorrhea ¥

-

(5) Question not attempted Wesdy

How much energy is being released by complete

breakdown of one mole of glucose?

(1) 689 (2) 589

(3) 489 (4) 389

(5) Question not attempted

Usually research hypothesis must contain -

(1) At least one independent & two dependent
variables

(2) At least one independent and one dependent
variable

(3) At least one independent variable

(4) At least two independent & one dependent
variable :

(3) Question not attempted

For every torque that is exerted on a body, there

is an equal and opposite torque created on the

first body, which is exerted by the second body,

isa-

(1) Newton’s 2" Law of Motion

(2) Newton’s 1* Law of Motion

(3) Newton’s 3™ Law of Angular Motion

(4) Newton’s 3™ Law of Motion

(5) Question not attempted

Which one of the following is the Thorndike’s

Law of Learning?

(1) Law of Effect (2) Law of Use

(3) Law of Acceptance (4) Law of Reaction

(5) Question not attempted

“The phenomenon by which individual

performance decreases as the number of people

in the group increases” is known as -

(1) Ringelmann effect

(2) Social support

(3) Moment loafing

(4) Task challenge

(5) Question not attempted

32,

33.

34.

35.

36.

37.

GET IT ON
Google Play W

A1 &H B AR ST 7791 & v F
ST § —

(1) #eRfrr (2) FERRET

(3) sE=IRaT (4) werig

(5) ar<IRd U -

BN D TP Al » goi e | fhad St
et 87

(1) 689 (2) 589
(3) 489 (4) 389
(5) srgaiRa we

AT U 3 UR&BeuHT # 3Gy IfAe 21

(1) o9 9 &9 T& @ad 3R I 3 ==

(2) 9 | B9 TP WaF AR TP T =R
(3) B9 ¥ HH TP wWad =W

(4) B9 | P9 & Wad AR TH BT =R

(5) Sr<IRa weA

fodfl fie . o 9l yRe ot @ forg
Ugel fis W v 99+ @ik Awdg 99 S
Il &, Sl fb gav fis gRT o oian § —
(1) =ge= &1 i &1 gav1 a4

(2) e 31 fd &1 usar A

(3) =ge=1 &1 By T &1 TRwT FrE

(4) =g &1 T BT deT Fm

(5) srgaRa v

frrfefad & & oiFaT df-ese &1 drRas &1
e 87

(1) g9rg &1 a9 (2) 39T @1 A
Q) ofa &1 fram @) ufifhar &1 fm
(5) Ig<IRT U=

"g8 Hedl e gRT W H Al @ e
gﬁwmﬁmawﬁ:riﬁqg‘rm%‘“mﬁﬁ
(1) Rreds v

(2) grfioTe |#eH

(3) &1 MR BT MMARFTST

(4) H AN

(5) 3rgxiRe weA
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24

7

38. Which one of the following scope of sports
management is not correct?

(2) Facility

(4) Planning

(1) Programme
(3) Personnel
(5) Question not attempted

39. “Sports and exercise psychology is the Scientific

Study of people and their behaviours in sports
and exercise activities and the practical
application of that knowledge” was said by
whom?

(1) American Psychological Association

(2) David Gill, 2000

~ (3) Begun - 1979

(4) Brewer & Petrie

(5) Question not attempted

Assertion (A) : Flexion and extension of the hips

are the most apparent joint
movements in the gait.

Reason (R) : In the double support phase of gait,
one hip is extended while the other
is flexed.

(1) Both (A) and (R) are true and (R) is the

correct explanation of (A)

(2) (A) is false but (R) is true

(3) (A) is true but (R) is false

(4) Both (A) and (R) are true but (R) is not the

correct explanation of (A)

(5) Question not attempted

41. A high amount of acidosis can impair the release

needed for muscle contraction.
(2) Sodium

(4) Calcium o

(1) Iron
(3) Magnesium
(5) Question not attempted
42. The most common overall test statistics for a
MANOVA are called -
(1) Wilks’ Lambda  (2) Dembroski Petty
(3) Harkins H. (4) Lasater R.
(5) Question not attempted

38.

39.

' 40.

41.

42,

GET IT ON
Google Play

Wel g &1 FrefalRad § | e a7 98
T8 87

(1) BRI @) gfem

(3) wfgafim (4) ST 9T

(5) srIRa W

PIER d dSEAPS BRI 8, W IR AW
Tffaferal § S8 T @1 AEEIRS SFHNT 7
s gRT et TaT?
(1) 3@R® ATgdhIdifoTde TR
(2) 3fas firet, 2000
(3) WR¥—1979
(4) gav 3R U
(5) IrgiRa we
BT (A) : TSTT H Fow BT HHaT U4
: R waiftre weuer @y wfer € |
PR (R) : T B QIEX FEIP TR H T
Hoal [AwRa 8iar & 96 gasT
Hpad |
(1) (A) 3R (R) aFi 9@ & a7 (R), (A) &I
Wa ARAT &
(2) (A) 3 & off (R) 9T &
3) (A) 9 & Afpa (R) 3 B
(4) (A)3R (R) aHl I & Afd (R), (A) B
HE uRAT 8T &

(8) srgaRa e

RIS @ Soa A AUl & Gaad @
forg A .. B fdd 89 H 9w
IO T B | '
(1) <rar (2) wrfsa

(3) N (4) ez

(5) argaRa ye |

MANOVA & oI 999 3 87 uRIeTor 3ffds
FEAT & —

(1) faced &1 oiesT  (2) SHIDI UST

(3) zifed=g T (4) TR AR

(5) srgxiRa U
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43. An in-deptli analytical description of a specific
cultural situation is called -
(1) Analytical Research
(2) Historical Research
(3) Ethnographic Research
(4) Survey Research
(5) Question not attempted
44. The rate at which work is performed is called

(1) Energy (2) Pressure
(3) Potential Energy  (4) Power
(5) Question not attempted
45. Which one of the following is not the component
~ of linear momentum?
(1) Inertia (2) Force
(3) Velocity (4) Acceleration
(5) Question not attempted
46. “One exerts greater force when jumping than
when walking.” Which Law of Motion among
the following is indicating this statement?
(1) Law of Acceleration
(2) Law of Inertia
(3) Law of Reaction
(4) Law of Momentum
(5) Question not attempted
47. A small group of individuals interviewed

concerning a specific topic as a method of
qualitative research is called -

(1) Experimental design group
(2) Focus group
(3) Sample design group
(4) Observational group
(5) Question not attempted
48. Which one of the following is not correct type of
Knowledge of Results (KR)?
(1) Visual KR
(2) Verbal KR
(3) Formal KR vs Informal KR
(4) Specific KR vs General KR
(5) Question not attempted

43.

45.

46.

47.

GET IT ON
Google Play R

ot faf¥ree i Refd @1 e
fazervoneTe feRvT dEamr & —

(1) fzemomes e

(2) SfeeTfie srgweT

(3) Jawfd=T SrgHu™

(4) |devT I

(5) 3rgaRa we

- O R R B fHAT AT R S
HEN AT 8 |

) ot (2) gam@

(3) wIfad Swl (4) =ife

(5) srgaRa T
ﬁmﬁn@ﬁﬁﬁaﬁﬂwmwww:@
27

(1) Sear (2 sa

(3) T (4) RO

(5) SrgaiRa U

"Bl T8 DI gl § IB F AWB T
Iqd &Rl 2 |7 = H | iy @ e e
IRIGT HIUF BT 3R 3T Prar 27

(1) @R &1

(2) Srear &1 fAam

(3) wfafsar &1 s

(4) a7 P71 o

(5) srgmiRa A .

OIS AU $1 U A & wu & e
faftre favy @ wWdy #§ WemeeR fey Ty
T & (P BIC T8 BT HaT Il & —

() e fEomss w8

(2) BIHd TE

@) LT fSoeT e

(4) sraciid TE

(5) ergeiRa W

fafaRea & 9 o= tﬁmm‘r P T
(Knowledge of Results (KR)) ®T T&l UbR 8l
87

(1) 599 BAR.

(2) HiRgd HIR

(3) 3iTaTRe B3R I9M IFITARD D3R,
(4) faftre BeR W 9 3. IR

(5) Ig=iRa ueA
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49,

50.

51.

52.

53.

247

The process of bringing desirable change into the
behaviour of humau being is -

(2) Education

(4) Medical Science

(5) Question not attempted

(1) Psychology -
(3) Sociology

Which one of the following is not correct

classification of personality traits given by .

Allport?
(1) Secondary Traits (2) Central Traits
(4) Cardinal Traits

(5) Question not attempted

(3) Primary Traits

Which are consumable materials?
(1) Balls, rackets, bats, uprights

(2) Balls, rackets, bats, goal post
(3) Balls, rackets, bats, javelin

(4) Balls, racket, bats, lime powder
(5) Question not attempted

Assertion (A) : The Centre of Gravity does not
change its location in the rigid
body regardless of position in

space. '

Reason (R) : The precise location of the Centre
of Gravity for a person in
anatomic position depends on the
proportions of that person, with
magnitude equal to the weight of

 the individual.
(1) (A) is true but (R) is false
(2) Both (A) and (R) are individually true and
(R) is not the correct explanation of (A)

(3) (A) is false but (R) is true

(4) Both (A) and (R) are individually true and
(R) is the correct explanation of (A)

(5) Question not attempted

How you aut based on what you perceive your

social situation to be, is called -

(1) Psychological Core : sn e

(2) Role-related Behaviour

L‘I
E:-H 1.

(3) Typical Responses
(4) Personality Structure
(5) Question not attempted

49.

50.

51.

52.

53.

GET IT ON
Google Play

AMG & FAER ¥ AP dGA1d T BT Ufshar
a0

(1) #=fasm= (2) fIrem

(3) FHTSTRITH (4) fafeear fasm=

(5) srgaRa U

e gr1 Ry W e @i &
frfaRaa # 9§ sar 9 aftexor 787 87
(1) fgdas @eror (2) BT T

(3) v cferor (4) P &

(5) IR we

B ST ARl 7

(1) 9, YPbe, goof, TH
(2) <, YBe, gool, M RS
(3) S, Yae, o, Al
(4) i<, Y@, goof, AT

(5) 3gaiRa ue
AMHYT (A) : TEATHEY FT bx AaReT H
ferfa @7 wRaE fey I Rer
IRR H AUAT I T8l gaardr
gl
HRYT (R) : IIRS Reifa § fosdt afea & forg
EATHYY BT be BT ACIh I
I Afdd & AU W PR rar
g, Roraer aRamr aafdd & o9 &
RIS BT 7 |
(1) (A) 9 & «fdd (R) Tad &
) (A) IR R) T FfFTTd w9 F I &
IR (R), (A) & FE IRAT 7B 8
(3) (A) TTod § WEfe (R) 9T ®
4) (A) 3R (R) sHI AfdTd 9 A I & .
3R (R), (A) &I He! RN &
(5) srgiRa ue
AT I Ao Rafd @ S wEsa 8
TP AR W AT DY B R 8, 39 Ded

(1) w=ad=Te PR
(2) qfHPT el FTER
(3) faRre ufafsarg
(4) fddea weg=T

(8) Irg<IRa U
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54. Which one of the following examples will be
related to Law of Reaction?
(1) In hockey or baseball using heavier stick or
club so that force exerted is higher
(2) A rolling ball keeps on rolling
(3) Sprinting action of a runner
(4) When a golf ball is struck, it travels in the
direction of strike
(5) Question not attempted
3. Match List-I with List-II and select the correct
answer by using the code given below the lists —
(A) Natural observation
(B) Contrived observation
(C) Quantitative observation
(D) Qualitative observation
List-IT
(1) Experimental situation
(i1) Development of theory
(iii) During the experiment
(iv) Observe the event
Code -
(1) A-(iv), B-(ii), C-(i), D-(iii)
(2) A-(i), B-(ii), C-(iii), D-(iv)
(3) A-(ii), B-(i), C-(iv), D-(iii)
(4) A-(iv), B-(i), C-(ii), D-(iii)
(5) Question not attempted

96. A first-hand account of an event or experience is
called -
(1) Secondary Source (2) Primary Source

(4) Data Source

(5) Question not attempted

(3) Present Source

57. Which of the specific sport psychology field
treats those athletes and exercisers that have
severe emotional disorder?

(1) Clinical Sports Psychology

(2) Experimental Sports Psychology

(3) Educational Sports Psychology
(4 Physiological Psychology

(5) Question not attempted

GET IT ON
Google Play

S4. fferifga § 4 divar Seewwr ufafsar @
s & g grm?
(1) g1 a1 sHara § 99 Red a1 Forg &1
SUART HRAT d1fs ST 1T g 3IfeId &Y
(2) t& gead g8 s deddl Xedl &
(3) gra® @I qreT oI fhar
(4) 519 UH TIe% dfc Pl HRT Wl 8, o 98
HR 8Y faem § amEn o
(5) sraRd we
55. A1 Ay 1Y e 3 FErEar ¥ g1 v gA-11
I GAfTT PR FEI IR BT AT BN —
-1 \
(A) UTHiIS Iraeited
(B) AP 3Teiip
(C) uRATHS rdelihT
(D) VTS FqATH
-1
(i) urnfe aRRefy
(i) fagia &1 uRae=
(iii) 7T B SRME
(iv) AT BT rdciip
E@' =i
(1) A-(iv), B-(ii), C-(i), D-(iii)
(2) A-(i), B-(ii), C-(iii), D-(iv)
(3) A-(ii), B-(i), C-(iv), D-(iii)
(4) A-(iv), B-(i), C-(ii), D-(iii)
(5) srgaRd T

96. el TeAT A1 oW & el fAaRer FEardn

g S
£ () Rl o @) i B
(3) T B @) ariper B
(5) IgRIRa ye

57. i fafRre We #9ifase &5 S9 vereliel
HI-THH f[APR 87
(1) w19 We "=Ifasm
(2) urafire ol #AIfAsT
(3) e wer T
(4) sIRE "=IfasT
(5) JgaIRa wea
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GET IT ON
Google Play

58. The distance from the axis to the place where the 58 3i&7 | I WU & I g4 Wal URREN TR
resistance is applied may be called the TR, - oiviciio b FEATI T
(1) Weight arm (2) Muscle arm G 2 g
(3) Power arm (4) Force arm @) = arg (4) e arg
(5) Question not attempted (5) srgaiRa o
59. Which of the following is not a body of the 59 f=ifoiRaT § & PIFwT ¥ Waer &1 Fe=g AT
dissertation? : T8l 87
(1) Discussion (2) Abstract (1) ==t (2) \R
(3) Methods (4) Results @3) T (4) gRvmH
(5) Question not attempted (5) srgaRa uw=
60. Study of individual and collective aging process ~ 60- &fda iR wHfes S¥ F@d @ ufbar @
is known as - AT DI T Fed &7
(1) Gerontology (2) Decentology (1) SRl 2) S=<rErsi
(3) Agentology (4) Magentology (3) gorIErsir (4) ASICTatolT
(5) Question not attempted (8) IR g
61. “The ability of muscles to receive and respond to 61 "SR & Urd &= 3R S4 W ufafsar
stimuli” refers to - Cog] ? iU B T’ B Hafia fha
(1) Elasticit (2) Trritabilit ANLE
(3) Extensib);hty (4) Contractijl{ity 2 o o -
(3) fowaReierar (4) Hepa-reierdr
() Question not attempted (6) srgaRa T
62. The term Aetiology refers to - 62. gfeaiaroll g &1 areud & —
(1) Consequences of disease (1) 37 & gRomH
(2) The likely outcomes of disease () 71 & Frfad gRoms
(3) The nature of disease (3) IFT B yHfa
(4) Causes of disease (@) A & BHRU
(5) Question not attempted (5) srgaRa we
63. Displacement of an athlete during 400 mrace in ~ 63. I &19® U<l o7 H IS &1 8, @ 200 Hiex
a 200 m track if the runner is running in the first ?55 #H 400 i SIS @ SNM 99 W 6
lane is - faRerma foaem grm?
(1) 100 m (2) 400 m (1) 100 #rex (2) 400 #rex
(3) Zerom (4) 200 m (3) T AR (4) 200 #Hex
(5) Question not attempted (5) arg<iRa e
64. Hull’s Stimulus-Response Theory of learning is 64 & gRT fR¢ U W@ & SaoHn ufifdba
based on - fagia f&a o amiRa 27
(1) Study conducted with school students (1) faemerd =i & wrer fhar T seggs
(2) Laboratory experiment with animals (2) SRl & A1 GARTEer § by g
(3) Study conducted with students of University @) sferigw fawafdemes & orEl & wrer fda
of Illinois o
(4) Laboratory experiments with birds (4) oféral & wrer yETEer § fby g
(5) Question not attempted (5) rgaRa we
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65. Which one of the following pairs related to  65- gRY 3R Wra=T ¥ e FrefoRag # & B

Instinct and Emotion is not correctly matched? SireT Wel gHford w781 27
(1) Curiosity - Wonder (1) Ror=mar — smead
(2) Combat - Fear 2) g — w9
(3) Parental Instinct - Tender Emotion (3) w1 — e @ YgRy — dFer wra=T
(4) Food seeking - Gusto (4) A= P TR — STE
(5) Question not attempted (5) SrgaiRa g
66. Assertion (A) — Motor abilities are mainly 66. Jf¥HeT (A) — THE ArIar T& ©Y |
influenced by cognitive process. HLATTHD AfshaT g7 H’HTEIH
Reason (R) — The students who score better in Bl & |

PR (R)— § BT ST el & 3 3fch Wit
PR &, I TS foramet B gERi
efficiently than others. j:r 30T 3?75 RIESIRCRCINGI]

1 .
(1) Both (A) and (R.) are true but (R) is not the (1) (A)TE (R) 2 T & ST R, (A) B
correct explanation of (A) s a5 2

(2) (A) s false but (R) is true (2) (A)3RTT & AP (R) T ®
(3) Both (A) and (R) are true and (R) is the (3) (A)Ud (R)THI I & TAT (R), (A) BT T&T

intelligence tests are able to learn

motor activities more quickly and

correct explanation of (A) T &
(4) (A) is true but (R) is false @) (A) 9 2 AP (R) 39T
(8) Question not attempted : (5) sraRa ueA
67. “If such and such is true, then it follows that”, it 67 “Jf& 3@ I1q A 2, d1 SHBI FTA PRI,
1S - ' 8 & —
(1) Speculative Reasoning (1) sreas a@
(2) Deductive Reasoning n (2) FIEATHS TD
(3) Inductive Reasoning i () TR 0@
(4) Critical Reasoning ~ (&) anerEATES 9
(5) Question not attempted (5) IraiRa we
68. Motion of body in terms of time, displacement, ~ 68. ¥Hy, faweru=, a7 3R @R & Ty F IR A
velocity and acceleration is related to - T fraw efera 87 :
(1) Kinematics (2) Dynamics (1) Fg-wicad 2) sz
(3) Biomechanics (4) Kinesiology (3) FrHB R (4) FrgIfHATATS
(5) Question not attempted (5) SrgaiRa =

69. “Management frequently relates more to the 69- "YU & Thildh! BT ¥ YdU AR AP
technical functions of administration.” Who has Hefra 2ar 21 g8 uRvmT feas & &7

(g;i)vellj this definition? N 1) & ) i R
arry arles A. Bucher
3 NIBIDG
(3) March L. (4) Jonathan @) =l 7. @
() Question not attempted (%) srgaRa W
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70.

71.

72.

73.

24

Select the correct order of purchasing for an
organisation -

(A) Maintaining stock register

(B) Receiving sports equipments

(C) Purchase order

(D) Permission from authority

(E) Inviting bids

(F) Making a committee

(G) Payment procedure

(H) Checking demand

(I) Storing equipments :

(1) (H), (D), (F), (B), (C), (B), (G), (&), (D)
(2 (C), B), (G), (A), (), (E), (F), (D), (H)
@) H), (F), (), (G), (), (D), (E), (B), (A)
(4 (D), (D), (B), (B), (A), (H), (F), (C), (G)
(5) Question not attempted

5

Which of the following is not a phase of
‘Psychological Skills Training Programs’?

(1) Environmental phase

(2) Education phase

(3) Practice phase

(4) Acquisition phase

(5) Question not attempted

The number of observations minus the number
of restrictions placed on the data is called -

(1) Data file

(2) Dependent variable

(3) Independent variable

(4) Degree of freedom

(5) Question not attempted

The philosophy that deals with the value of
things is called -

(2) Axiology

(4) Ideology

(5) Question not attempted

(1) Oxyology
3) Epistemology

70.

71.

72.

73.

GET IT ON
Google Play

e Wed & foy W) &1 98 H9 g —
(A) WSR URTHT & -GG HRAT

(B) Wl SUYPBRVIT BT YIfed <

(C) %Y MY QT

(D) IS & SrgAfd o=

(BE) fAfaewri & smHi3a s

(F) Y& HfAfd g=mr

(G) T s

(H) 51T &7 S &A1

(I) SYBRVI BT HSRUT HRAT

(1) (H), (D), (F), (E), (C), (B), (G), (A), (D)

(@ (C), (B), (G), (A), (D), (E), (F), (D), (H)

() H), (), (C), (G), (), (D), (E), (B), (A)

@) (1), (D), (B), (B), (A), (H), (F), (C), (G)

(5) Jrg<iRa g |
frafeRaa § 9 dF9T FEASINE  BEd
YRV HRIHA’ BT ARV 8] 87 ;
(1) TafaRoT =R

(2) f3reqr =Ror

(3) Iy TR

(4) g =ROT

(5) arg<iRa we

STl WX Y Y gfady & G=m a7 gcreN
SaAFT B FEAT B BET W & —

(1) Ser1 wisa

(2) anf3ra =R

(3) wdd =W

4) w@d=zar &1 feh

(5) Srg=iRa U .

T8 T Ol qegSA B Yo B fAdeE PR 2,
HEAAT B —

(1) sifefeiaroh (2) i
(3) S=HENT (4) foaruRT
(5) srgaiiRe o
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- 74.

75.

78.

Which can be referred as “Fan Identification”

from the following options -

(1) The emotion with which a team is associated
with its supporter

(2) Dividing the fans or supporters of both the
teams in the stadium to avoid aggression

(3) The degree to which a supporter can be
identified with a specific team

(4) Psychological connection that individuals
have with their team

(5) Question not attempted

Which one of the following comes under the

conclave category of direct public relation

media?

(1) Newspaper (2) Radio

(3) Pamphlets (4) Exhibitions

(5) Question not attempted

- Null Hypothesis & Alternative Hypothesis are

generally symbolised as -
(1) Ho & H; (2) Hi & H;
(3) Hs & Hy (4) Hp & H>

(5) Question not attempted

- The measurement of heat energy liberated or

absorbed in metabolic process is known as -

(1) Sphygmomanometer

(2) Spirometry

(3) Calorimetry

(4) Thermometer

(5) Question not attempted

Which one of the following statement related to

nature of direction is not correct?

(1) Direction is important function of sports
management.

(2) Objectives of direction depict its very nature.

(3) Direction is performed by some levels of
management

(4) Direction in sports management is a

continuous process.

(5) Question not attempted

74,

75.

76.

77.

78.

GET IT ON
Google Play

fr=faRaa et & 9 59 uvige yg==”

@ w0 H dafid fear &1 gear 2?2

(1) g8 =1 oRId 1T Uh 9 399 g9efai
@ W ST B 8

(2) smpHEaT @ g9 P forv wfegy § I Fi
Sl B uzradT a1 gHw! BT AT B

(3) vH e Pl fB) faftre d9 & 9y fag
&% P UgAHT ST Fhal &

(4) fdal &1 o W & W FAasnHD
Tefer

(5) srgeiRa ued

fFrfeRaa #§ & oar yoer saass @ifsan
D Dligerd Ao & I IMAT B?

(1) =R 93 (2) fear

(3) ud (4) yeeifr

(5) srgRa U

I URGeUAT iR aFfouds UREHeTT Bi
AT R YR i ST 87

(1) Ho & H, (2 H; & H;

(3) Hs & H; (4) Hp & H»

(8) sreRa e

AT Ui § Scafta a1 yaeifa o
Sl BT A9 el & —

(1) R AR

(2) wIEREdT

(3) HARH

(4) erHifiex

(8) e we

fraed @1 upfa @ Wt fefaRea § @
DA U TEI T8 87

(1) FeeM O 9deH &7 Fewyel d 2 |

(2) FreM & IXT 3D UHT Y g9 |

() frizm vaed & 9 WRI gRT fhar S
2 |

(4) el yega # e Uw |aq ufhar 2

(5) srgaRa A
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79.

80.

24

7

Which one from the following is not correct
statistical measure that is used to summarise the
survey/research data?

(1) Measures of asymmetry

(2) Measures of dispersion

(3) Analysis of variance

(4) Measures of statistical averages

(5) Question not attempted

The philosophy that deals with the nature of
things is called -

79.

80.

GET IT ON
Google Play

frfeiRag & @ Biar wal dikerd YAl
81 2, Rraer STINT aderT /IgHe SeT Bl
AR wq & forg fomar smar &7

(1) RuHar & su™g

(2) oa & U

(3) fa=vr &1 fageryor

(3) G sfiad & Su™

(5) rgeiRa w3

a8 T Ol a3l Bl Ui BT fadee HRel g,
FHEAT & —

(1) Poetry (2) Axiology (1) wfem (2) fearersh
(3) Epistemology (4) Metaphysics (3) ST (4) TeEHHRT
(5) Question not attempted (5) IR T
81. At what levels budgeting may be done? 81. gofe fhd TR UR ST ST Hdhdll 27
(1) Only at macro levels (1) &9al g8q ®R W
(2) Departmental levels (2) feuria w®
(3) Only at micro levels (3) Pacl GeH wWR W
(4) Both at micro and macro levels (4) gew 3IR g8 Ml WRI W)
(5) Question not attempted (5) argaiRa g
82. “Public sentiment is everything. With public ~ 82. "= a1 €1 ¥4 {B | SHGA & T BB
sentiment nothing can fail; without it nothing can A fvet T8l 81 Tebal, gD a1 {B Al Wbl
succeed.” By whom this statement is given? ;? & w1 T8 F fwe g faar mn
(1) Abraham Lincoln (2) George Thomas ' : sl ias
(3) John Miller (4) Martii Luther B 31?1%11 i 2y i
(3) SiiF AR (4) =féT Per
(5) Question not attempted (6) SERa TE
83. Which of the following is a reason which may  83- f=faReq # ¥ @d HRU =R HaM W
not be considered as a “home disadvantage” Yold AT “ENe] P9’ @ ®U A el A
- while playing at home ground? Il Hehdl?
(1) Playing before a supportive audience (1) wafe <3l & AT Wern
(2) Fans expect the team to win at home ground (2) yerE® B IFIE b S B He R Wi
(3) Playing against a vocal audience (3) q&R TP b WHA W
(4) Playing against a competent opponent (4t wew ufiggl @ Racms e
(5) Question not attempted () mﬂﬁﬁa R4
84. Buccinator muscle is found in - 84. gfepicy drauel Ui SRl 8 —
(1) Force arm (2) Leg (1) g1 Hol (2) =
(3) Skull (4) Face (3) st 4) =B
(5) Question not attempted (5) argaiRa we
61- W Page 17 of 32
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85. Which one of the following statement related to
elasticity is not correct?

(1) Some materials compress easily but are not
elastic enough to get back to shape fast.

(2) All materials are basically elastic.

(3) A highly elastic object will quickly spring
back to its original shape after being
compressed.

(4) Rubber is perfectly elastic, and therefore,
does return to its original shape if stretched
or distorted to the maximum.

(5) Question not attempted

GET IT ON
Google Play &

85. e ¥ Heifda fforRad & & s wom |8

el 87?

(1) BB AEEET srar | Rigs ol €, afes
ga-l eElel 81 B f5 aof 9§ R
qIId 3 | | |

£ 52 B Imia gora: deer Bl §
%) T AR dAeR a%] GOfed 8N @ g
WA T T AR H G0 37 G |

(4) YR I TE ¥ R Bar ¥, 3R gafig
Hferpas 96 W a1 e B W I8
U e ABR H a9 AT Sl 2 |

(5) SR we=

86. What are the two basic kinds of aggression? 86. JMpTHAT & T T UBR T &?
(1) Instrumental aggression, Assertive (1) @y ST, DR Eqe STHTHHT
aggression (2) Tzt ST, SRR Hie
(2) Hostile aggression, Assertive aggression
: _ Sk : (3) HRBR TTH AMHTHBT, AT
(3) Assertive aggression, Instinctive aggression AR >
(4) Instrumental aggression, Hostile aggression (4) 9Ter amehTHET, TEATY! SMHEHAT
(5) Question not attempted (5) argaRa wed
87. A twitching or spasm in the muscle group thatis 87 Hiwyeh e # AeHan Re=mg gl Veu a1
maximally stretched is known as - W B 7 @ Y F S o & —
(1) Active stretch (2) Static stretched (1) w\fsha Ra=mg (2) Rfer B
(3) Myoclonus (4) Ballistic stretch (3) AT @) dfeRes =
(5) Question not attempted (5) 3rgaiRd ues
88. Match the following Energy Expenditure for 88 68 fheiuie aois aray %Nl & URRE A @
different Modes of Resistance Exercise for males Eﬂn;;fgﬁ & forg fFrfalea Sof g @
weighing 68 kg - o
(A) Isokinetic slow exercise (I) 6.0 Kcal min’! (&) i @ : (D) 6.0 Keal min’
(B) Isometric and free (II) 9.6 Kcal min™! @ % W RYE (1) 9.6 Keal min”
weight exercise T ;
(C) Isokinetic fast exercise - (III) 9.0 Kcal min™ () g @S Afe®d.  (IM0) 9.0 Kcal min™!
(D) Hydra fitness circular  (IV) 9.9 Kcal min’! TN
exercise (3) B1E9T fPe® WHaR  (IV) 9.9 Keal min'?
(1) (A, (B)-(D), (C)-(TII), (D)-(IV) 4 ;ﬁﬁ o e
e RO L e @ (@0, @-0V), (@I, (10
(3) (A)-(D), (B)-(1), (C)-(IV), (D)~(IIT) (3) (&0)-(ID), @)-(1), (@)-(IV), (&)-(II)
(4) (A)-(ID), (B)-(I1D), (C)-(IV), (D)-(T) (@) (31)-(10), (&)-(0D), ()-(IV), (&)-(1)
(3) Question not attempted (5) srgaRa ue :
61 - W Page 18 of 32
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GET IT ON
Google Play

89. Which of the following is a key characteristic of
a Laissez-Faire type of Administration?
(1) Workers having the freedom to make their
own decisions with minimal interference
(2) Strict supervision and control of workers
(3) Centralized decision-making by

89. fa=forRad # & PIAT AEWEY (RIGT—HI)

YHR & URE & g9 faviyar 27

(1) 51T BT RYATH SFIEY & FrRT 37 g
RECARCREGIR

(2) sifyl &1 A gdderor SR T

(3) URIHST ERT BeId [+or oIl

administrators . 4
(4) Collaberation enforced by management (4) FRIT EIRT S, e
(5) Question not attempted (5) SrgaRa e
90. By which method the intramural sports shouldbe ~ 90- 3riaR® wWell &I fw fafdr & ST o s
preferred to be organised? qraq? :
(1) League cum knock-out (1) &7 98 AT 3mse
(2) Knock-out cum League (2) Hf® 3M<e ¥ o
(3) League (3) =T
(4) Knock-out (4) | 3Se
(5) Question nut attempted (5) Sr<IRa u=A
91. Match List-T with List-II and select the correct 91 II—1 & T2 &1 GA—11 & T2 ¥ A= N
answer by using the code given below the lists — qr A QU MU He o WA 9 HEl SR
List-1 S
(A) Broad-External Attention ﬁ?iﬂ
(B) Broad-Internal Attention (A) ﬁﬂ?ﬁ—iﬂﬁi e
(C) Narrow-External Attention (B) foxqa—andiRe ear
(D) Narrow-Internal Attention (C) Havi—arEr &
List-II (D) Hahvi—sraRe &
(i) Planning m
(ii) Focused Targeting (i) ST T
(iii) Enhanced Kinesthetic Awareness (i) <&T G AT <
(iv) Peripheral Awareness (iif) TFPTT SIToHT BT fadra
Code- (iv) IRET HaeTeiierar
(1 (A)-(iv), (B)-(iii), (C)-(i1), (D)-(i) S _ : :
s mmaonme D Enemones
; % : oy s i :
(3) (A)~({), (B)‘(ITI), (C)_(l.l.).’ (D)_(“T) :,i 3) (A)-G). B, (C)-(ii), D)-(iv)
Ml sl @) (A, B)-(v), (O, (D)-(0)
(5) Question not attempted (5) argRa W
92. “The storage form of Carbohydrate found in the ~ 92 "HAURR 3R IPHd H U S dlel BB
muscle and liver” is known as - @ HSRYI ¥Y” B FT Hed 87 .
(1) Glycogen (2) Glycogenolysis (1) TAEHG (2) “arEoEIfeIRg
(3) Glycogenesis (4) Glycolysis (3) TP 4) TAEPIARN
(5) Question not attempted (8) sreRa T
61 - W Page 19 of 32
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93. Which method is used to measure the internal
consistency reliability of a group of items?
(1) Lasater Demb (2) Stinchcombe Alpha
(3) Kelly U.N. (4) Cronbach’s Alpha
(3) Question not attempted

94. What must a Sport Manager possess to interact
effectively with both high-earning athletes and
minimum wage staff?

(1) Proper people skills

(2) Advanced technical skill

(3) Detailed knowledge of sports policies
(4) Strong financial acumen :
(5) Question not attempted

95. Which of the following types of tests include a
cartoon format wherein a series of cartoons with
words inserted in “balloons™?

(1) Rorschach test

(2) Rosenzweig test

(3) Thematic Apperception test
(4) Holtzman Inkblot test

(5) Question not attempted

96. Which one is the formula for calculating the
coefficient of elasticity?

igh
() e= drop helg. t
bounce height

u;—u;
E=—rr—
(2) Vi=Va
@) e= bounce height
e drop height
Ni=Nz2o <
e =—
(4) u;—uz

(5) Question not attempted

called -

GET IT ON
Google Play

93. qegell & W @ IMdRe Rerdr fAvag-a
1 7 & forg fara fafer o1 SuawT fabar s
27
(1) Foex 39
(3) Bl ZT.
(5) arg=iRa ueA ,

94. g=g MY dTel UEiEl 3R RFIGH dad ard
HHARAT THT B AT P 7§ d1did e
& oY U @l ydud & U 1 1 A1Ry?
(1) Sfra &Rl &1 Prere
(2) S dHNB! BreTe
(3) war A @t faegd STHeRY
(@) worga o diere
(5) IrgaiRa yeA

95. f=feifad o 4 f5d gBR & wer § @cA
ey WA B, o “ER” # STt Ty vrea}
@ T HIEA BT T S MAA 2?

(1) RMeries TRpeqoT
(2) BT geqoT
(3) Jufes TuRewE uderor
(4) BrecoTA Shaiic TRIEToT
(8) srRa T
96. iIer T[uTich ST IO YA B oY FF PIa 27

B fﬁvﬂzﬁﬁ_ﬁé
(Nes oI Bl Sars

(2) Readra are®T
(4) PP BT TP

@

_ [com @ o
Oe=Fraom
re=e—

(5) Srg<iRa ueA

- % T

97. Focus on personal performance standards is,,..97- SfakTd UE3H AT UR &I9 3 BT PHaT STl
F |
EE C;

(1) Goal Orientation

(1) <teg =g

(2) Competitions Situation (2) gferegerian @Y Refy
(3) Self -Competitions (3) w—ufcrgeriy
(4) Win Orientation (4) Sia srAfa=amss
(5) Question not attempted (5) srgaRa wes
61 - W Page 20 of 32
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GET IT ON
Google Play

98. Which domain extension mentioned below 98- g SfewifRad ®F WA eI
signifies for non-commercial organisation? R—aiftiicg®s req & forg 27
(1) .com (2) .mil (1) &m™ ) fa
(3) .org (4) .edu (3) 3NN @) R
(5) Question not attempted (5) ar<iRa ue
99. Freely movable joints are also known as - 99. Wz U | frefia et @t 3y fhy wu 4
(1) Synarthroses (2) Amphiarthroses :?) mﬂ? e
(3) Diarthroses (4) Paraorthoroses By A i
(8) Question not attempted (5) R we
100. The concept of oxygen debt is introduced by - 100. SffqRAITT 0T B YR UK DI TS & —
(1) H.E. Huxley (1) T3 s gRT
(2) Margaria and Dill (2) \rTiRET @R f$a g1
(3) Jean Hanson (3) S B gIRT
(4) A.V.Hill and H. Lapton @) ud f&er 8k Ta. oed gRT
(5) Question not attempted (5) arg<iRd ye
101. The flow and exchange of energy within a living  101. fa5=fl Sifad womell & *fiaR ol &1 yarg iR
system refers to - fafrr Heffa Fvar & —
(1) Fossil energetic  (2) Bioenergetics (1) Sfares geifed (2) IrTasifea
(3) Thermodynamics (4) Biosynthesis (3) SIS (4) FAgETT
(5) Question not attempted (5) a;a?rﬁﬁ g
102. From the following which one is not the major  102. f=foiRad # & SIET HIfS YdeH & YA
function of personnel management? B Tl 87
(1) Staffing (1) werfteer
(2) Organization planning and development (2) Fras @ AroAr N (e
(3) Re-employment services @t 3 g SR FGTY
(4) Personnel research ¥ @) Pifife S
(5) Question not attempted (5) rgaRd ueA
103. The “Hawthorne Effect” in management is 103.ydes # “gfli< ywE” &1 314 f&9 o@d &l
attributed to the which author? e wirar 872
(1) Weber (2) Elton Mayo (1) IR (2) vee T
(3) Taylor (4) Fayol (3) TR (4) AT
(5) Question not attempted (5) argaiRa wed
104. Which does not come under the category of fluid 104 BT %a gl @ Soft F FE 37 28?2
forces? ") foave 2) 37
(1) Lift (2) Drag - @) ey @) st gRh
(3) Buoyancy (4) Normal reaction
(5) Question not attempted (8) srgafRa o
61 - V¢ Page 21 of 32
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105. Which one of the following falls under the
structural components of the locomotor system?
(1) Blood Vessels and Blood
(2) Bone
(3) Atoms
(4) Organs
(5) Question not attempted

247

106. Which among the following is not an example of

extrinsic motivation?

(1) Social approval of people

(2) Intention to learn new skill

(3) Winning awards & trophies
~ (4) Fear of punishment

(5) Question not attempted

107. Match the following Common Food Items listed
below with the Total Fiber Content each food
item has -

(A) Peas Y2 cup (I 1.6¢
(B) White rice %2 cup (I1) 4.5¢
(C) Kidney beans Y2 cup (III) 0.5¢
(D) Oats whole ¥2 cup (IV)5.2¢

(1) (A)-(I), (B)-(IV), (C)-(T), (D)~(I1I)
(2) (A)-(D, (B)-(ID), (C)-(IV), (D)-(1IT)
(3) (A)-(Im), (B)-(ID), (C)-(IV), (D)-()
@) (A)-(IV), (B)-(II), (C)-(II), (D)-(I)
(3) Question not attempted

108. Which one of the following factors does not

depend on the magnitude of the surface drag?

(1) Density

(2) Roughness of the Surface

(3) Velocity

(4) Surface Area

(5) Question not attempted

109. Method of controlling a threat to internal validity

in which neither the participant nor the

experimenter knows which treatme .. the

105.

106.

107.

108.

109.

GET IT ON
Google Play

frfoRed § § @9 afdas gomeh. &
RIS Teh g7

(1) Yo ARy 3R o

(2) ggr

(3) 1y

3T

(5) srgaRa W
ﬁw%@aﬁ@ﬁwwmmmw
T8l 87

(1) STl &1 FrEioTe Tef

(2) =31 Pz G B Fag

(3) gRTHR TG ST ST

(4) |91 BT X

(5) 3rgaIRd we

fFefeied Eeg amrg @ el $1 e
HIS[E Gl BIsa” AT ¥ ey —

(37) Hex 3T By (I) 1.6 919

(§) A%e age AT H9 (1) 4.5 T

(|) ST MR By (I11) 0.5 T4

€) gui A AT By (V) 5.2 9™

(1) @)-), @)-av), @)-1), (=)-)

@ @)-, (@)-an, @)-av), @-m) _
@) (@)-(1m), (@)-(1D), (&)-IV), @)-O |
@) @)-(IV), (@)-1D), (3|)-11), ()-(T)

(5) Srg=iRe ued

f=foiad d | dHar oRe G Remeg @
gRHT TR AR TE 82

(1) T

(2) A8 BT GRERI

(3) a7 .

@) g &5

(5) srgafe we

IARE AT & Far a?r ata &= # Ay
fSrad 71 ar ufowrft ek =1 &) warTesdat @1 ga
giaT & & ufewrft o #ear SR e <@

participant is receiving - : - g —
(1) Blind Setup (2) Placebo (1) =T8S e (2) AT
(3) Avis effect (4) Double-blind Setup (3) vfaw g (4) STa—=ISS ATy
(5) Question not attempted (5) srgaRa we
61 - ¢ Page 22 of 32
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110.

111.

112.

113.

114.

115.

24

Which of the point or score is of greatest
frequency in a distribution?

(1) Mode (2) Median

(3) Mean (4) Variability

(5) Question not attempted

From the following which one is not the type of
planning?

(1) Tactical planning

(2) Long term planning

(3) Static planning

(4) Strategic planning

(5) Question not attempted
Which among these is not a type of leadership ~ 112.
style? e,
(1) Democratic (2) Laissez-faire h":;-
(3) Dictatorship (4) Autocratic
(5) Question not attempted
What should be the height of exposed beam of 113
the ceiling from the floor of a main gymnasium?
(1) 18 to 20 feet (2) 16 to 18 feet
(3) 25 to 27 feet (4) 22 to 24 feet
(5) Question not attempted
114.

Which one of the following statement is correct?

(1) Variance is the square of standard deviation.

(2) Standard deviation is an estimate of the
variability of scores from each other.

(3) Central tendency does not represent all of the
scores.

(4) Variability is the degree of difference
between each score.

(5) Questicn not attempted

Select the chronological order of following

phases of team approach to setting goals -

(A) Meeting phase

(B) Planning phase

(C) Evaluation phase

(1 (A), B), (C) @ (©), (A), (B)
(3) (B), (A), (C) @ (B), (O), (A)
(5) Question not attempted

110.

111.

115.

GET IT ON
Google Play

foell faceer & waw aiftres sgiy arern fdg
TR PITAT &7

(1) sgels (2) =rfeaeT
(3) 5T (@) gRec=eiearn
(5) srgalRa e

frafoled & @ a9 FEeE &1 TR T8
27
(1) =EFER—FIA et

(2) <refpreie e

(3) wWfts I

(4) wmRe arer

(5) Srgaie we

3T ¥ BT g el BT Uh YHR T8l 87
(1) Srwaite () TRT-—DHIR

(3) TR (4) BT

(5) argiRe ueH ‘

T AW & g 5HF 9 Ba & W
g% 9 @I SHarg a1 s =AfRy?

(1) 189 20 Wi (2) 169 18 Wi

(3) 259 27 wie 4 229 24 Wi

(5) srgeiRa we

o & ¥ P91 $YUF T8 87

(1) Prar, 99 faoes &1 @i 2 |

(2) 7% g™ TS 3 & /o F A=
&1 T I B |

(3) =g ygRy W1 bl b1 yfafHfe T8
HT | :

(4) fafqwuar, 7S 3iF & 99 & 3fax &1 Rufa
2| ‘ ;

(6) srgRa WA

ey faRer & Il gfeanr & frafaReq

TR BT BIATIhAD HH I —

(31) do@ =T

(@) AT TROT

(¥) T TR

(M (@), @). @)

@) @) @) @

(5) SrgaiRa we

(2 (|). @) @
@ @), @) @)
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116. Which of the following focuses on how

behaviour is determined by a complex
interaction between the environment and one’s
personal makeup?

(1) Extero-psychological Orientation

(2) Social-psychological Orientation

(3) Psychophysiological Orientation

(4) Cognitive behavioral Orientation

(5) Question not attempted

117. Which one of the following is not psycho-

physiologically each activity organism phase?
(1) Affective Phase  (2) Cognitive Phase
(3) Conative Phase (4) Effective Phase

(5) Question not attempted

118. Which of the following are direct functions of

sports management and marketing?

(a) Event creation and development

(b) Property representation

(c) Research and Evaluation

(d) Client management and representation

Select the correct answer using code given
below - =
(1) (@), (b), (c) and (d) (2) (b), (c) and (d) %
(3) (a), (b) and (d) (4) (a), (c) and (d)

(5) .Question not attempted

119. In research, why focus group interview is used?

(1) To assess product usability

(2) To answer how much

(3) To answer how many

(4) To save money

() Question not attempted
120. Which of the following is “Section of a scholarly
paper that credits individuals important to the
development of the work™?
(1) Table of contents  (2) List of tables
(3) Dissertation format (4) Acknowledgments
(5) Question not attempted

GET IT ON
Google Play

16. ffoRaa # | o9 39 919 W Bfed & &
ggiaRvl iR Afdd &1 afdara axaar & =
U Sifed 3iafhar g°T Faer »a FuifRa g
g7
(1) @1 A-aEe AfAfI=Ta
(2) AmEISTS- FHAsS I
(3) HsHIRTAANTGS o~
() AP FagR SrfAfa=ara

(5) Irg=iRa U

N7. f=foiRad § 9 B9 F9-3I8IRS w9 9
yd Tfafafer sha ==t =81 87
(1) ¥rEarHs TR0 (2) 5FTHS TR
(3) forar® =R (4) v¥rdT TR
(5) Sr<IRd U

8.9 & 9§ o9 Vd Iawue g (uve &

@Y IR N B &

(a) IS &1 707 vd faery

(b) Hufr gfaf=fere

ORICRCE ICE|

(d) UTEs ydud iR gfafafte

A e BT g9 B FE SR § —

(M) (@), (), ©TE@) @ (), (c)Td(d)

() (a), (b) 7T (d) (@) (a), (c)Va (d)

(5) 3rg<iRe we ;
20E ¥ Bl FHE AEIhR BT SUINT i fhar
ST 87

(1) SUTE &1 ISYAIRTAT BT 3ficber BT

(2) o waE <=7 2

(3) faw &1 WA 2T 2

@) & g9 & fow

(5) srpaRa T

fr=faRaa # & sar “figm YwR &1 98 W
St B & e & forg wewyqel afyai &
2 <1 87

119.

120.

(1) fawg—g= (2) arfersrel B =
3) o yEy gHY (4) IR
(5) srgmiRa ueA

61- W

Page 24 of 32



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

247

121. Role acceptance does not depend on -
(1) Opportunity to work dependently
(2) Opportunity to use specialized skill
(3) Feedback and role recognition
(4) Role significance
() Question not attempted

122. When a body is in motion in such a way that all

parts of the body move the same distance in the

same time and in the same direction is known

as -

(1) Angular Motion  (2) General Motion

(3) Translatory Motion (4) Rotation

() Question not attempted

123. Arrange the following steps of research report

writing in chronological order —

(I) Preparation of the rough draft

(II) Rewriting and polishing :

(IIT) Logical analysis of the subject matter

(IV) Writing the final draft

(V) Preparation of final outline

(VI) Preparation of the final bibliography

M @, an, (), (V), (VD), (IV)

(2) (I, (V), (IV), (VD), (D), (D)

(3) (1), (V), (D), (), AV), (VD)

(4) (1), (V), (D, (D), (VI), (IV)

(5) Question not attempted

124. Krebs cycle occurs in -

(1) Mitochondria

(3) Cytoplasm

(5) Question not attempted

(2) Ribosome

(4) Cell membrane
125. Removal of lactic acid from muscle and blood
with active recovery takes -

(1) 30 minutes to 1 hour

(2) 10-15 minutes

(3) 2-8 minutes

(4) 5-24 hours

(5) Question not attempted

121.

122.

123.

124.

125.

GET IT ON
Google Play

I 3 WP 30 W ik =81 & —
(1) 3t friRar &1 IEaER

(2) fARTE DI BT SUANT B BT IJGEX
(3) gfafesar sk YT vgam

(8) YT BT HE™

(5) srgaRa =

We B fUs 39 UBR T oxar @ & S69e
|l 3T TH B W 9EE o) R e 8
oo 4 9o € 1 39 BEd § —

(1) =i afy (2) |m= Wi

(3) srgarereT T (4) o

(5) IR v

g Rue oad & Afefad =@xol @1
FTATHRS F9 F AR o —

1) Tz 7R D AN

(I) GieiE TF 98a% ST

(1) fvzraeg &1 arfde fageror

(IV) =ifcrm wraT forgm

(V) sifem wuaEr @ T

(V1) sifem Terga @ Oy

(1) (D, (D), (IID), (V), (VD), (V)

(2) (), (V), @V), (VD), (1), (1)

(3) (Im), (V), (), (1), (AV), (VI)

(4) ), (V), (I, (1), (VD), (IV)

(5) argaRa wem
wed I Dal sIdl 87
(1) =rgeIPif~gar

(3) wrEeITH

(5) IrgRa ueA
fpd gAuifa & e AUl o vaw @
difded et g H 9y olar & —

(1) 30 fAsre—1 ger

(2) 1015 fame

(3) 2—-8 fme

(4) 5-24 %2

(5) 3rg<iRa wed

() zqrE
(4) BIRreT fereeh
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126. Which one of the following statement is correct? ~ 126. 71 # ¥ BT FHIF AA &7
(1) The physical education program should (1) TRRS REm SEms T w7 G PEE

consist predominantly of artificial play

gyl Tfafaferdl w smenRa g =Ry |
activities.

(2) Physical education program should provide (2) wrRe e wrdmd @fa dfEulREl &g
a wide range of movements for limited &N TR 3aE & m BT A1RY |
muscle groups only. L

.gr.P ’ , @) wfafaftrl 3g watw W fear s =nfey

(3) Sufficient time should be provided to the
activities, so that the skill may be learned orere plerell @t ward) @ 9 ¥am o 6 |
reasonably well. =7 () IEHr W W UgEsd | Aifia Tffafe

(4) The limited activity should be included in =% 58 R i g
curriculum during leisure time.

(5) Question not attempted : (5) SrgeiRe o
127. Which one of the following statement related to 127 BRe f%eryor § wHafta fr=ifeRad # & i
factor analysis is not correct? HAF WEl el 87
(1) The technique of factor analysis is quite (1) 59 &9 ggferodl a1 &1 fwR SR
WA HRAT AE &, O DR [ATeIgor

useful when we want to expand and simplify

B dBIE B SUARM B B |
(2) T PT SYERT SeTE, WA AT A B
I FACNRT & Wed H fhar o

the multivariate data.
(2) The technique may be used in the context of

empirical clustering of product, media or

HEHT 5 |
o (3) FRG ATV JR—UFBR IT FY-—THR HRD
(3) Factor analysis may be R-type or Q-type RveTr B e 2
factor analysis. (@) BRE RTATT BT ST qE J
(4) Factor analysis has been mainly used in TS el o fefyd o3 3 fHar
developing psychological tests. ; TAT B |
(5) Question not attempted (5) sraRa u=
128. What is the full form of “GEQ” in measurement 128. &1 WHoeg & #19 # "SNEFg” &1 Tf wU
of team cohesion? 1 87
(1) Group Environment Questions (1) w38 qRRefds ue
(2) Group Effective Questionnaix"e (2) wg yaTdl TR
(3) Group Effective Questions (3) g Tl e
(4) Group Environment Questionnaire 7 (4) wfe TRReIfd® Feaac
(5) Question not attempted (8). SrgeRa 7
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131.

24

Difficulties encountered in testing the Inverted-

U Theory with humans is our ......................... .

(1) inability to measure the linear relation
between arousal & performance

(2) inability to measure the gradual changes in
performance of an athlete precisely

(3) inability to measure the curvilinear relation
between arousal & performance

(4) inability to precisely measure the arousal of
an athlete

() Question not attempted

The best protection against low-back problems is
well-developed .....c.cocimvcninns
(1) Back muscle

(2) Back and abdominal muscles

(3) Thigh muscle

(4) Abdominal muscle

(5) Question not attempted

....................... is known as angular velocity.
(1) The rate of displacement

(2) The rate of rotatory displacement

(3) The rate of acceleration

~ (4) The rate of rotatory speed

132.

() Question not attempted
Match List-I with List-II and select the correct

answer by using the code given below the lists —
List-I
(A) Arthrodial

tla
(C) Trochoid ST

(B) Ginglymus

(D) Reciprocal Reception
List-IT

(i) Pivot joint
(i1) Saddle joint
(111) Hinge joint
(iv) Gliding joint

Code - P
(M (A)-(i), (B)-(i), (O)-(iv), (D)-(iii)
@) (A)-Gii), (B)-(ii), (C)-(1), (D)-(iv)
() (A)-(ii), (B)-(iv), (C)-(iii), (D)-(i)
(@) (A)-(iv), (B)-(iii), (C)-(1), (D)-(ii)
(5) Question not attempted

129.

130.

131.

132.

GET IT ON
Google Play

a7l R See—g Rigia &1 wemr o # oW

el BiSTgar AN =

(1) S<iorT 8k weele & 4 WRaw day @)
AT H argHefar

(2) fel Reemst & g9y ¥ wite yRada o1
WEIe WY W 999§ el

(3) ST 3R UevN @ 4 9Py dey @
A F aRgHeRfdr

@) 5 Raart & SO & 9EF w9
Ao # srgEeian

(5) SR we

Ue & e R & gawmel & watam s919

oof fasie BT =nfey |

(1) die & Ataush :

(2) 913 vd Ue @ Jrquldnt

(3) Wirg @ Hiqush

@) ve & Higush

(5) srgaRa e

pofig g

A fQU MY g @ HEEar 9 9E SR @

A B —
A1

(A) AT

(B) fiveimy

(C) Erbigs

(D) R RIAw=
eI

() fiac wfer

(i) dso Gy

(iii) &9 wfer

(iv) TATSfST G
R‘_

(1) (A)-(ii), (B)-(@), (C)-(iv), (D)-(iii)
(2) (A)-(iii), (B)-(ii), (C)-(i), (D)-(iv)
() (A)-(i), (B)-(iv), (C)-(iii), (D)-(i)
@) (A)-(v), (B)-(iii), (C)-(1), (D)-(ii)
(5) SR we
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What percentage of proteins are found in the
form of myosin within muscles?

(1) 70% (2) 30%

(3) 20% (4 25%

(5) Question not attempted

A sequence of enzyme mediated chemical
reaction in a specified product is known as -

(2) Glycolysis

(4) Metabolic Pathway
(5) Question not attempted

(1) Glycogenolysis
(3) Glycogenesis

From the following which one is not the function
of supervisor?

(1) Administrative duties

(2) Duties pertaining to facilities & equipments

(3) Duties pertaining to special services

(4) Duties pertaining to scalar chain

(5) Question not attempted

The vertical distance between the point of
release and the point of landing is called -

(1) Relative height of release

(2) Height of projectile

(3) Range

(4) Trajectory

(5) Question not attempted

Which one of the following performs important
functions related to energy metabolism and

exercise performance?

(1) Protein (2) Carbohydrate

(3) Fat (4) Glucose ;ﬁr
Nss

(5) Question not attempted

Which one of the following personality

psychological inventories is not correct?

(1) Cattell’s 26 Personality factor questionnaire

(2) Eysenck’s Personality Inventory

(3) The ‘
Inventory

Minnesota Multiphasic Personality

(4) The California Psychological Inventory
(5) Question not attempted

133.

134.

135.

136.

137.

138.

GET IT ON
Google Play [

A3t @ fas gfoerd W ArRE & w5
# UIg fd 87
(1) 70%
(3) 20%

(5) argailRa wed

fpdf fAfde Scure o domgs wemedr YRS
yfafehar & 1A BT HET AT B —

(1) TorsEoAIRIRE  (2) TASHIARRE

(3) EPoHRE  (4) Yedifas Ant

(5) srgaRa T

fa=fafad § & e s &1 F™ T8 87
(1) yemafe Fa

(2) R Td Sudwel & weRiT Bue

3) fae Fawll & waftd wia

(@) e siEen ¥ waa Fua

(2) 30%
(4) 25%

(5) rgaiRa wed

fortae fdg ok saaRer fig & 9= @ kR
Xl HEl & —

(1) gegoT o1 AT SHars

@) gerw @1 SaE

@) &

@) yeas

(5) SFg=IRT U

$TH W BT il gaed iR AIM yeeiH
¥ AT wEw@yu BRI HRaT 87

(1) 9= (2) HratETgRe

@) a&r OREEI]

(5) JrgaRda u -

frfaRea § @ @ @fda  Faaehes
et we el 87

(1) & BT 26 AfdAd RS T
(2) SEVTE & Al G

(3) fameT AIBRIE T gaes
(4) HfcTpIfTar FFEs~® !

(5) 3rg<iRa wed
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The chief element in the entire managerial
PrOCRES I8 vie i iina; :

(1) Administrator (2) Man/Woman

(3) Head of Institute ~ (4) Manager

(5) Question not attempted

“The intensity dimensions of motivation at a

particular moment” is called -

(1) Stress (2) Anxiety z
(3) Arousal (4) State anxiety e

(5) Question not attempted

“A muscle that is directly responsible for
affecting a movement” is known as -

(1) Agonist (2) Antagonist
(3) Fixator (4) Syﬁergist

(5) Question not attempted

Who developed Social Learning Theory?

(1) Sigmund Freud  (2) William McDougall
(3) B.F. Skinner (4) Albert Bandura

(5) Question not attempted

What will be the energy consumption of an

- athlete when he is asked to run for a given

distance or speed on a treadmill or on a track
under identical environmental conditions?

(1) More on treadmill

(2) Less on treadmill

(3) Same in both conditions

(4) Less on track

(3) Question not attempted

144. The meaning of ‘KINESIS’ is -

(1) Running (2) Throwing

(3) Motion (4) Jumping

(5) Question not attempted

139.

140.

14,

142.

143.

144,

GET IT ON
Google Play

Hoof yeua Ufhar § I T
2l

(1) yema® (2) goy /Hfge

(3) W By (4) yaue

(5) 3rgIiRa e

“fHdl fauy &1 § WRom @1 g @ man

PEATT & —

(1) T=mg () faar

(3) ST (4) g (sraen) f=iar
(5) SraRd ue

“gg- wiuelt S fei afg @1 wwfad e @

forr g dR w® RFRER 86 27, 89 P8d
§_

(1) yarers e (2) gfcroeft g=h

(3) fhaiex 4) wefraer ush
(8) Sr=IRT ue

|Eifos e g feae fasiia faar
(1) v wras (2) faferaw Aw<ima
(3) diuw. RFR (@) e dSyT

(5) arg<iRa ueA

ot Raarst &1 SHorl @ud w7 Brft, o9 SY

T gaTaRei gRRefaat § gefa ar 2 W

s AREa wfd a1 < 9@ S @ fow FE
STY? :

(1) gefe wR ST

(2) csfia W™ &H

(3) <=1 Refot # w1

4 ¢ R FH

(5) srgaRa ueA
‘BIgT BT 3] w7 2?

(1) < (2) BHeT
(3) Tfy (4) @e
(5) JrgRd ue
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What does a strong bond between two or more
people refer to?

(1) Economic relationship

(2) Competitive relationship

(3) Interpersonal relationship

(4) Professional relationship

(5) Question not attempted

Contractile structures composed
Mayofilaments is known as -

(1) Sarcomere (2) Filament
(3) Transverse Tubules (4) Myofibril

(5) Question not attempted

The ability of muscle to return to resting length
after being stretched -
(1) Contractibility (2) Extensibility
(3) Irritability (4) Elasticity

(5). Question not attempted

The value of acceleration due to gravity at Earth
surface is -

(1) 9.81 m/s® (2) 9.81 km/s

(3) 9.81 m/s (4) 9.81 g/s

(5) Question not attempted

Who is named as the father of Scientiﬁc'
Management?
(1) Terry (2) Taylor

(3) Henry Fayol (4) Harold Koontz

(5) Question not attempted

of .

145.

146.

GET IT ON
Google Play

S 1 T W NS A D g Aoigd U B
T A 27

(1) anfdfe Hay

(2) yfreeft Hay

(3) TRERS Hey

(4) =gae ey

(5) rgaRa wed
FNfhedcd | a9 fagsT dxa=mel ® Fel

ST ® —

(1) witRR (2) fohemie
(3) srgueer AferdId  (4) HAhIS
(5) SrgxiRe ge

147.

148.

149.

AUl H Reag & 9 Rm @ Rafy #
dlesy 31 &mar —

(1) R@sa (2) fawameiterdn
(3) frsfrsmo= @) <=
(5) IR U¥A

ged] B Hag R oAby & HROT RO B
A fba 82

(1) 9.81 4 /92~ (2) 9.81 fpet. /9.
(3) 9.81 41 /9. (4) 9.81 I /9.
(5) srgRd e

ISP Jdu9 & OFe b w9 § fea =g
fopar T 87

(1) 25 (2) TR
(3) B waE (4) TIes Hrewl
(5) srgaiRa wed
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190. Match List- with List-IT and select the correct  150. G&i—1 va i~ g T gzt 3 FHferd v

7

answer by using the code given below the lists -
List-I
(A) Destination image
(B) Hallmark event
(C) Mega event
(D) Synergy
List-I
(i) Olympic Games
(i1) Impression of location
(i11)) Two-components interaction
(iv) Large event occurs infrequently
Code -
() (A)-Gii), (B)-(i), (C)-(ii), (D)-(iv)
() (A)-(ii), (B)-(iii), (C)-(i), (D)-(iv)
(3) (A)-(ii), (B)-(iv), (C)-(i), (D)-(iii)
@) (A)-(iv), (B)-(iii), (C)-(ii), (D)-(3)

(3) Question not attempted

gt & e Ry T g # werar ¥ wd
SR BT GG N —

-1
(A) Tida Bfq
(B) AT Simaroret
(C) #m gde
(D) dTerTd

- 10
(i) of<ife T
(i) SFTE &1 g9
(iii) ST ATIAT BT URTIRAT
(iv) FH-FHT AR B a1t 8% Sl
T

(M (A)-(ii), (B)-(i), (C)-(ii), (D)-(iv)
(2) (A)-(ii), (B)-(iii), (C)-(1), (D)-(iv)
() (A)-(ii), (B)-(iv), (C)-(i), (D)-(iii)
(@) (A)-(iv), (B)-(iii), (C)-(ii), (D)-(i)
(5) SrgxiRe v
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